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QUESTION 1

If the command arp -f is run, which file will be read by default? 

A. /etc/hosts 

B. /etc/ethers 

C. /etc/arp.conf 

D. /etc/networks 

E. /var/cache/arp 

Correct Answer: B 

 

QUESTION 2

Consider the following / srv/www/ default/html/ restricted/.htaccess AuthType Basic AuthUserFile / srv/www/ security/
site-passwd AuthName Restricted Require valid-user Order deny,allow Deny from all Allow from 10.1.2.0/24 Satisfy any 

Considering that DocumentRoot is set to /srv/www/default/html, which TWO of the following sentences are true? 

A. Apache will only grant access to http://server/restricted/to authenticated users connecting from clients in the
10.1.2.0/24 network 

B. This setup will only work if the directory /srv/www/default/html/restricted/ is configured with AllowOverride AuthConfig
Limit 

C. Apache will require authentication for every client requesting connections to http://server/restricted/ 

D. Users connecting from clients in the 10.1.2.0/24 network won\\'t need to authenticate themselves to access
http://server/restricted/ 

E. The Satisfy directive could be removed without changing Apache behavior for this directory 

Correct Answer: BD 

 

 

QUESTION 3

The following is an excerpt from the output of tcpdump -nli eth1 \\'udp\\': 

13:03:17.277327 IP 192.168.123.5.1065 > 192.168.5.112.53: 43653+ A? lpi.org. (25) 13:03:17.598624 IP
192.168.5.112.53 > 192.168.123.5.1065: 43653 1/0/0 A 24.215.7.109 (41) 

Which network service or protocol was used? 

A. FTP 
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B. HTTP 

C. SSH 

D. DNS 

E. DHCP 

Correct Answer: D 

 

 

QUESTION 4

After setting up Apache to run inside a chroot jail as a non-root user, httpd no longer starts. What is the primary cause of
the problem? 

A. Apache needs to start as root to bind to port 80 

B. Apache cannot read the main index.html file because it was not moved into the chroot environment 

C. A LoadModule line for mod_chroot needs to be added to httpd.conf 

D. Apache requires a VirtualHost directive when running from a chroot environment 

E. The mod_chroot configuration needs the absolute path to the chroot environment 

Correct Answer: A 

 

 

QUESTION 5

Which setting in the Courier IMAP configuration file will tell the IMAP daemon to listen only on the localhost interface? 

A. ADDRESS=127.0.0.1 

B. Listen 127.0.0.1 

C. INTERFACE=127.0.0.1 

D. LOCALHOST_ONLY=1 

Correct Answer: A 
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